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1. Prove that the equation Wﬁinze is an identity. (6 APP)
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Additional Space for Question 2 if Needed

3. Use a counterexample to prove that the equation 2
csc® X = sec’? (x—%} is not an identity. In
addition, explain how you used the provided graph **
to find a counterexample. (5 KU, 3 COM)
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1. Prove that the equation tan” 0 =csc® @ is an identity. (6 APP)

-tahnetm — (smag)( cos’d

L. >0
S = 723D ol oy ) 1w D - b cosd
1 12d Sih 9
-— L [] 2
_ _ cos?h = Sib(l -cos’t)
- sl _ sid ,
cos’ﬁ ) C LG, =R.S.
) S]V\:g {hL .‘
2 lven UGt m
(Sma& ~ Sy 9«:059) s anden y
cos?d = R.S.
2. Prove that the equation tan2>2< + siznx :cosx(sec?’x+cotx) is an identity. (10 TIPS)
a 1-cos® x sec x-1
L.S. = ﬂ—xr T R.S. =cosx (Sec?’xﬂo’cx)
| -cos®x  gedx-—|
-(-aan - Sin X "(S—L,I%‘ >+ cos x aot X
= e1nx tan’x

= sec’x +cosx cit x

(Hm x)(%m fx) (M) (ta.n“'x)
= (c.;—"az)(m) r(Ex )| s o rs.

_ cos’x S, the 3!\/&0
- ces‘x SINnX
e@ua‘h@n I's an
- 2 CoOS X \/COSX Yent
= S <
ecx + ( ’ )( S 1den ufy,
= sec,lac +Ccos X C—o‘fx KU | APP | TIPS | COM

-0 /-0 -0 -0



Additional Space for Question 2 if Needed

3. Use a counterexample to prove that the equation i N
sin’ x = cos’ (x—%} is not an identity. In

addition, explain how you used the provided
graph to find a counterexample.

(5 KU, 3COM)
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1. Prove that the equation ZCOt 0 = —cot” @ is an identity. (6 APP)
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Additional Space for Question 2 if Needed

3. Use a counterexample to prove that the equation =
csc® X = sec’? (x—%} is not an identity. In

addition, explain how you used the provided t5
graph to find a counterexample. (5 KU, 3 COM)
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